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fi cnR1 a 1Rtau-n 
SlllVIMATIVE ASSESSMENT-II 

1num 
MATHEMATICS 

f.tuffffl 'fTIW: 3 r:.w?:j 
Time allowed : 3 hours j 

[ 3ff~ :Wn: 80 

r M([XI/Illlln marks : 80 

m m..-.:J f.'tirn' : 
1. TNt wr:n:rf.rcrr<f ff 1 

2. ~ 'frn"-r:r;{ i! 34 ffl ff iii wr: &Uif 3!. Sf, Ti .J:ik q ij R'JftfJrn' "!I 
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3. &US :wif 'f[C6- 'f[C6 ~ crm 1 0 WR. #, :it GfS-f¥fJ011 m g I &US <if if 8 

m g f!iRif it~ z ~ q;r F"t &US ff if 10m "ffR-Fft;r ~ $ g 1 

&US c:: if 6 m ~ ~ it JTfitcF; .:1 3icn q;r F-1 

4. fFf m -r:m if cili f~Cfw'r::riff -g I <mfil" 2 3icf; crrrJt 'f[C6 m if, 3 3icn crrrJt 
rfr;r wRf if "i'f2/T 4 3icf; ?fTft <ft wRf if 3JH'Ifl<h ~ ~ Tfit ff I 

5. iheyc.'lc( <ni J.P.iTrr qf;fi'f ~ 1 

Ge~teral fll.structions : 

1. All questions are co111pulsoty 

2. 1'l1e question paper consists of 34 questions divided into four 

sections A. B. C and D. 

3. Section A contains 10 questions of./ mark each, which are multiple 

choice type questions. Section B contains 8 questions of 2 marks 

each. Section C conrains!O questions of3 marks each and Section D 

contains 6 questions of 4 marks each. 

4. There is no overall choice in the paper. However, internal choice is 

provided in ofle question of 2 marks. tltree questions of 3 marks and 

two questions of 4 marks. 

5. Use o{ calculators is not pennitted. 

'l5l"'S 3'1 

SECTION A 

mmwr 1 it JOff<Fi~>rN 1 ~q;r~~~~if~m$fu'rl:-:rm:~Wq 

~ g, mif it ~ TfF 'flit F I 'flit ~ "iJftm: I 
~ 

Question numbers 1 to 10 carry I mark each. For each of these questions four 

alternative choices have been provided, of which only one is cm·rect. Select the 

correct choice. 

(A) 3 (B) 
7 
') 
~ 

(C) 6 (D) 3 

301111 2 
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2. 

If I is a root of the equations a/ + ay + 3 = 0 and / + y + b "'"' 0, then ab 

equals: 

(A) 3 (B) 
7 

2 

(C) 6 (D) -3 

"51~ zo ~ ~ U&rrm CliT <li•tq;<:"' t : 
(A) 100 (B) 210 

(C) 400 (D) 420 

The sum offirst 20 odd natural numbers is : 

(A) !00 

(C) 400 

(B) 210 

(D) 420 

3. • 1 lt, !'. ABC e.fi't ~ AB, BC (fm CA ~ <'{i'1 q:;) w:m: ~ P, Q (fm R 

'tR ~~~I ~ PA = 4 ilrfi, BP "'3 ilrft (f~.n AC = 11 ilrft ~ciT BC <fit 

3011/1 

~ (ilrfiit) ~: 

(A) · 11 

(B) 10 

(C) 14 

(D) 15 

A 

In Fig. 1, the sides AB, BC and CA of a triangle ABC, touch a circle at P, 

Q and R respectively. rf PA = 4 em, BP = 3 em and AC = 11 em, then the 

length ofBC (in em) is : 

(A) 11 

(B) 10 

(C) 14 

(D) 15 

3 

Fig. I 
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4. ~ 2 if, ~ ~ 1.l EDF efit ~ OF <if H 'R ~ <fimT t ~ ~m ED W-IT 

EF <if ~ "« Slilro: K W-IT M "« ~ <fimT t !"<'t~ EK = 9 WlT t, m 6 EDF C:fiT 

qfl:J11Y (fn:fi if) ~ : 

(A) u~ 

(B) 13.5 

(C) 12 

(D) 9 ~2 

In Fig 2, a circle touches the side OF of .1 EDF at H and touches ED and 

EF produced at K and M respectively. If EK = 9 ern, then the perimeter of 

6, EDF (in ern) is : 

(A) 18 

(B) 13.5 

(C) 12 

(D) 9 
Fig. 2 

s. <Tfu M {'i"'~fi1'11 ~ ~ amm: efit ~ <:nl -mm. ~ fWrr ~. ~·~<11ft 
1$, <'il'Wm~~~ ~am'@'~~ a:rr<RFrif ~t: 

30/l!l 

(A) 1 : 2 

(C) 1 : 4 

(B) 2 : I 

(D) 4: I 

[f the radius of the base of a right circular cylinder is halved, keeping the· 

height the same, then the ratio of the volume of the cylinder thus obtained 

to the volume of original cylinder is : 

(A) . I : 2 

(C) I : 4 

(B) 2 : I 

(D) 4: 1 
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6. . ~ ~ ~-q;r ~ 1 o Blft am 24 Blft &m:r ~<IT~~ ~ ~ "litrT ~ 

"R~oRt, m~~q;r~ (Wfi~)t: 

(A) 34 

(C) 17 

(B) 26 

(D) 14 

If the area of a circle is equal to sum of the area~ of two circles of . . 

· diameters 10 em and 24 em, then the diameter of the larger circle (in em) 

lS : 

•(A) 34 

(C) 17 

(B) 26 

(D) 14 

7. ~ lfl;rn: <f.t ~ "lf?r 1R ~~ <f.t ~' -sfl;m <f.t ~ q;r. -13 ~ t liT~ 
q;r :Fl<R i!?tur t : 

(A) 45° 

. (C) 60" 

(B) 30~ 

(D) 90° 

The length of shadow of a tower on the plane ground is -/3 times the 

· height of the tower. The angle of elevation of sun is : 

(A) 45° 

(B) 30° 

(C) 60° 

(D) 9o• 

s. ~ ~ ~ ~ M ~ ~ ~ fut ~ f.l~llti<:!i ( 2, 3) ~am~~ il; f.l~ti<:!i 

(-- 2, 5) ~. (l)~~~~fut~ f.t4~tiiih ~: 

30/111 . 

(A) (~6, 7) 

(C) (6, 7) 

(B) (6, ~7) 

(D) (-6, ~7) 

5 [P.T.O. 
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If the coordinates of one end of a diameter of a circle are (2, 3) and the 

coordinates of its centre are ( -2, 5), then the coordinates of the other end of 

the diameter are : 

(A) (-6, 7) 

(B) (6,--7) 

(C) (6, 7) 

(D) (-6,-7) 

9. f.r~ P "il~m A(l, 3)Cf'll1 B(4, 6) cfitfir<vrR~wt&o:sOfit 2: 1$ ~'ij 

f.21'l-lTf;Srn <gffi ~' ~ R <hI iCfl % : 

(A) (2, 4) 

. (Bl (3, 5) 

(C) (4, 2) 

(D) (5, 3) 

The coordinates of the point P dividing the line segment joining the points 

A(l, 3)and 8(4, 6) in the ratio2: J are: 

(A) (2, 4) 

(B) (3, 5) 

(C) (4, 2) 

(D) (5, 3) 

.. (A) 
1 

2 
(B) 

1 

3 

(C) 
6 

30/1/l 

(D) 

6 

1 
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Two dice are thrown together. The probability of getting !he same number 

on both dice is : 

(A) 
I 
-
2 

l 
(C) -

6 

(B) 
1 
-
3 

(D) 
12 

~'at 

SECTJONB 

Question numbers 11 to 18 carry 2 marks each. 

11. k~CftPI"f.'q'fffi~~futtW:rffi filOj')<fi{'ll x 2 4kx + k = O~~m~ I 

.Find the value(s) of k so that the quadratic equation x2
- 4kx + k = 0 has 

equal roots. 

Find the sum of all three digit natural numbers, which are multiples of l 1. 

13. ~ 3 it' WI'~~ p ir ilm 0 ~ m ~'fiT, ~ f-1-;~mt-s Mt ('fm 

5 iP:ft t 'R ~ ~ PA trm PB ~ ~ ~ I 'l:fR AP = 15 iP:ft ~ m BP '1fiT 

·~~~~ 

p 

30/l/l 7 [P.T.O. 
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Tangents P A and PB are drawn from an external point P to two concentric 

circles with centre 0 and radii 8 em and 5 em respectively, as shown in 

Fig. 3. If AP = I 5 em, then find the length ofBP. 

A 

p 

Fig. 3 

14. ~ 4 it, 1J.<11 '84~<11§ A ABC, ~ AB = ACt 1J.<11 ~ill tffiirn t I ftr.&: 

~f<f;~~p.m~BCcnr~q:;mrtl 

301111 

A 

~sit, "Gt~~. mcnr~ ot, i!~~~efit'3!tm AB, ~~em 

~ C '([{~~~I 'fu;p_filf~l1; ~ AC = CB. 

8 
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In Fig. 4, an isosceles triangle ABC, with AB = AC, circumscribes a circle. 

Prove that the point of contact P bisects the base BC. 

p 

Fig. 4 

OR 

In Fig. 5, the chord AB of the larger of the two concentric circles, with 

centre 0, touches the smaller circle at C. Prove that AC = CB. 

Fig. 5 

15. ~a:r~cnr~ 2425~ <r-~~tt~<@i-pft<f~~.~~ 
22~ 

[ 1[ "'-· ~'"'"'"' ] . 7 

30/111 

The volume of a hemisphere is 2425 ~ .cm3
• FinditS.curved surface ~ea. 

. 22 
(Usen= -1 

7 

9· [P.T.O. 
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0 A 

· In Fig. 6, OABC is asquare of side 7 em. IfOAPC is a quadrant of a circle 

with centre 0, then find the area of the shaded region. [Use n: = 
22 J 
7 

C B 

0 A 
Fig. 6 

17. ~ 1:l,<li ~ A(O, 2) ~m B(3, p) om C(p, 5) it el't'i'5f1>.f t, m p q;r +rR mo 
~I 

If a point A(O, 2) is equidistant from the points B(3, p) and C(p, 5), then 

find the value of p. 

ts. w.Il1 5o~ ~::m ~ <!ll<£'i0l!l ~ ~ ~ ~ 1 S!l~6hi11 ~ ~ fo!; «<~ 

30/1/1 

~3~4C!>f~~l • 

A number is selected at random from first 50 natural numbers. Find ilie 

probability that it is a multiple of 3 and 4. 

10 
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l3fi!S~ 

SECTIONC 

JTR ~ 19 it 2 8 'fffl'i ~ JTR it; 3 ai<fi ~I 

Question immbers 19 to 28 carry 3 marks each. 

ai~ 

x~~iRf~:3x2-2../6x+2=0. 

OR 

Solve for x : 3x2
- 2 J6 x + 2 "' 0 

at~ 

~ ~ fci; ~ ~ 1:fftrra"l;ft ~<liT~~~~~·~ 

Prove that the parallelogram circumscribing a circle is a rhombus. 

OR 

Prove that opposite sides of a quadrilateral circumscribing a circle subtend 

supplementary angles at the centre of the cirCle . 

. 21. '1'1.'1" ld1!<$lu1·~ <liT~~. R\eefil ~ (Cfi'Jf ~ atfdi'l:iffl) 6 ~ ~ .8 

~i?iiftmlatGr'l'l.'l" 3r.<l'~-tt~~ j\jje<li) ~~~f:?f~-tt-wm 

~:m 4il' ~ :r-tt m 1 
5 

30/lil 11 [P.T.O. 
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Construct a right triangle in which the side!i, (other than the hypotenuse) are 

of length 6 em and 8 em. Then construct another triangle, whose sides are 

~ times the corresponding sides of the given triangle .. 
5 

22. ·• 7 it, PQ -am AB ~ 0 -am~: ~m 7 itrft miT .3.5 itrft ~it 

m vn .;r~ ~I~ L POQ = 30° t m 0t4if?bd irn-<fiT ~ "iRT~I 

[n=22~] 
7 . 

p· 

Q 

In Fig. 7, PQ and AB are respectively the arcs of two concentric circles of 

radii 7 em and 3.5 em and centre 0. If L POQ = 30°, then find the area of 

the shaded region. [Use 7t = 
22 J 
7 

p 

Fig. 7 Q 

23. 7 itrft ~ mrr 12 itrft ~ ~ O<Tm <l'TR 1'% om~ it B-·:mt ~ am :mt •. 

O<Tm Cfim 11.'fi l!lifC'II"hl< ~ <fiR: fum -;;mn t I irCf <!tit om <fiT~ ~ ~ 

"iRT~I [n= 22 ~] 
. 7 

30/l/1 12 
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3 2 W:ft ~ 3fu 18 W:ft mm\ fu:<rr <:fR'ft ~ ~ t-'1'11<61( ~ u, if 1ffi ~ t-1 ~ 

~ <!iT ~ q( ~ fci;<rr -amrT ~ 3fu ~'to cfiT ~ lli<:tCII<:fiR ~ ~ ;;mit~ I 

'-l"fu lii~l<:fil{ ~ cli'r ~ 24 W:ft ~.at~~ <liT~ 3fu ~ ~ ~ 

~~ 

From a solid cylinder of height 7 em and base diameter 12 em, a conical 

cavity of same height and same base diameter is hollowed out Find the 

tutal surface area of the remaining solid. [Use n = 
22

] . 7 

OR 

A cylindrical bucket, 32 em high and with radius of base 18 em, is filled 

with sand. This bucket is emptied on the ground and a conical heap of sand 

is formed. If the height of the conical-beap is 24 em, then find the radius 

and slant height of the heap. 

24. l!,<l> 1"1i~i!gt:af! if> fireR it, ~.tt mrr if @m m ~ ~ ~ • 45° W-lT 

30"~~~~if>~cli'r~ 2oolft~, at 1"1t~z:~taactr~mo~t 

The angles of depression of two ships from the top of a light house and on 

the same side of it are found to be 45° and 30°. If the ships are 200 m apru.1, 

fmd the height of the light house~ 

25. ~m A(3, -5)W-TT B(-4, 8) <:fi)~~'{@I{SIOs<!iT~P ~W'fill~ 

<lmfltfcti AP =~ tt~~PUsrrx+y=Oq(~if;atK<.fill!Rma' 
. PB 1 • 

~I 

301III 13 [P.T.O. 
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· A point P divides the line segment joining the points A(3, -5) and B(-4, 8) 

such that AP = K . If P lies on the line x + y"" 0, then find the value of K. 
PB 1 

26. <rfu~rn~ iti'lflW~ (1, -3), (4,p) crm (-9, 7) ~am~~ 1s <:rf 

~ ~ m P if; l1R ~ i1f'i1v:, 

If the vertices of a triangle are (1, -3), (4, p) and (-9, 7) and its area is 

15 sq. units, find the value(s) of p. 

21. ~~'it. too~'il'Jitienrt, zoolfra'il'Jilienrtcrm so;fl'€twil;m~l 

.mt .q u '£11~'1>0lll ~ Ofi1t Rot>lcll 1!m 1 sufltot>ai ~ i1f'i1l!; fEn f.lot>li?ll'!lp~;lt q:;r 

'iTJ ( i) ;:ftffi t ( ii) tffi;n ~ t (iii) 'I tfR:n t ~ 'I -gl ;:ftffi I 

A box contains 100 red cards, 200 yellow cards and 50 blue cards. If a card 

is drawn at random from the box, then find the probability that it will. be 

(i) a blue card (ii) not a yellow card (iii) neither yellow nor a blue card. · 

28. ~~ ~q:;r 17 cri"t~G~~-q'Gif;~~ 5 ~tl<rR~~q:;r 

11 crf"t!G 43 t m~ n crf"t!G~ <€1~((1 

The 17th term of an AP is 5 more than twice its 8th term. If the llt't term 

of the AP is 43, then find its nth term. 

~~ 

SECTIOND 

~ ~ 2 9 it 34 'ffCii Jl7'itq; ~ <i; 4 3fq; ~I 

Question numbers 29 to 34 carry 4 marks each. 

29. 'l'{tl'i ~H<:R ~ 80 'it wa~ '@(~i:ldl ~I <rR ~ ~ufu'it 4~ ~~ 

-mtl m ~ ~ <ffi 'ffil'ffi ~ ~ <fi1:l' mat I ~ ehl~l( fct; $<1iHC:I< ~ ~ 

~~I 

30ll/1 14 
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A shopkeeper buys some books for 't 80. If he had bought 4 more books 

for the same amount, each book would have cost if I less. Find the number 

of books he bought 

OR 

The sum of two numbers is 9 and the sum of their reciprocals is 
2 

. 

Find the numbers. 

30. ~.~ ~~w.rtr 14 mUCfiT<itrr 1505 ~ ~ ~w.rtr ·'R 10~ l ~ ~CfiT 
25<ri'IG-mo~l 

Sum of the first 14 terms of an AP is 1505 and its first term is l 0. Find its 

25th term.· 

Jt. ~ ~ f<ti~~ f<t:im~T~rllffm ~ ~oo. ~~it ;orRcrmt~ 1R 

~~~~ 

30..'1/l 

amen 

~ '[ff ~ 'l'ftlm ~ ~~ ABCD <lfRrr Tim~ I~~ fcf; 

AB +CD= AD+ BC. 

Prove that the tangent at any point of a circle is perpendicular to ~e radius 

through the point of contact. 

OR 

A quadrilateral ABCD is drawn to circumscribe a circle. Prove that 

AB +CD =AD..,. BC. 

15 [P.T.O. 
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32. 'O;<:fi 3m, 31~ 'q"l: ~ 'O;<:fi ~ <); a:rr<fiR q:;r t, f,;mit $:it<); 311m\ <tT 

~ 3.5 W:fi i ~3m <tf ~ ~ 9.5 W:fr ~I <ffi:r <FiT .mmr:T ~~I 

22 
[rt 7~]1 

A solid is in the shape of a cone surmounted on a hemisphere, the radius of 

each ofthem being 3.5 em and the total height of solid is 9.5 em. Find the 

volume of the solid. [Use 1t = 
22 J. 
7 

33. u;<:n 'iifWit u;<:ri ~· <); ~ * 3lll!liR <tf t ~ 2& .49 ~ l:fF'fi 31'1 ~ t I 

<lfu ~ ~'lil<hl{ 100 <tr ~ 2s W:~T11~ 21 W:fi m. m ~cfil ~~ 
~1[1t= 22~] 

7 

A bucket is in the fonn of a frustum of a cone and it can hold 28.49 litres of 

wa1er. If the radii of its circular ends are 28 em and 21 ern, find the height 

. 22 
of the bucket. [Use 1t = -· ]. 

' 7 

34. "ff ~ <til-mit q:;r "ff lft;m: * 1:!T'G ~ ~ q:;)ur 60° t w.n lft;m: * ~ ~. 
~ * qrq <FiT 31efPFf cr;)ur3oo t I ~lft;m: ;fi1 ~ 50 1ft m m ~<til~ 
~~~ 

\Oil l 

The angle of elevation of the top of a hill at the foot of a tower is 60° and 

the angle of depression from 'the top of the tower of the foot of the hill is 

30°. If the tower is 50 m high, find the height of the hill. 

16 
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